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N.B. : (1) AII questions are compulsory.
(2) Figures to the right indicate the maximarn marks of each questions

1. (a) ACompanyprodueestwoproductsAandB. I imitofproductArequires 10

labour hours. lunit ofproduct B requiles 5 labour hours. Availabiliff of
labourhours is 400. Maximammarketdemand forB is 60 units. Minirnurn
demand forAis 20 units. Costper unit ofAand B is Rs.3 and Rs 5

respectively. Obtain optimal solution. Solve b1'graphical method.
(b) A company has choice of launching any one oftfuee variants of detergent -

.A,B and C. Demand ian be 20,000 units 15,0Ct00 units 10,000 units or
5000 units. Pay offtable is given below:-

Demand
ProductVariant

A B C

20,000 60 50 35

15,000 35 40 30

10,000 15 25 20

5,000 -10 5 i0

Find the appropriate decision for each of the following decision criterion.
Maximin, Maximax, Laplace, Hurwicz (cr,:0.6) andMinimax regret.

OR
(p) A Construction project work consists of four nnajor jobs for which four

contractors have submitted tenders. The tender amourts quoted in thousands
ofrupees are given in the matrix as 7

Contractors
Job

J
2

J4

cr 30 58 70 40

q 42 54 66 34

c3 34 50 74 30

c4 28 62 78 A1i!.

Find the assignment which nninimizes total cost of the project. Each
contractcr has to be assigned onejob.

I
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(q) Solve the following problem by simple method,

MaxZ: 10x, +20x,
Subject to constraints

3x,+5q<600
Zxr+31r<300

\,x,>0

2. (a) A small assembly plant assemblas PC's through g inter linked activities.

The time duration forwhich is given below.

Activity 1-2 1-5 1-4 2-5 3-6 3-l 4-6 3-8 6-9 7-8

Duration 2 2 1 4 I 5 3 I 5
A+ 3

(i) Draw anetworkdiagrarn for it.
(ii) Calculate and tabulate for each activity ES, EF, LS and LF
(iii)Calculate total float, free float, interfering float.

(b) For ttre following pay offtable find
(i) EMVof each decision
(ii) Expected opporrunity of loss

(iiDEPPI &E\rPr

4 4 ,\ 4 4

E, (o.ts)

E" (0.35)

E3 (0,2s)

Eo (0.15)

Es (o.l)

2s0

254

250

250

250

50

500

s00

500

500

- 150

300

750

750

750

-350

100

550

1000

1000

-550

-100

-3s0

800

1254

OR
A company has 3 plants, P,, P, and Pr. It supplir:s to 3 ware houses D1, D,
and D, cost per unit and demand - supply data is given below. Find optimal
solution by modified distribution method.

Dr D2 D3 Capacrty

P I
JL 28 22 50

P', 26 JO 34 40
I)
I 28 2& 24 60

Demand 2A 95

s
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Subject to

2x, +- x, ) 10

3x,+2q>15

xlr)Lr>0

and fmd expected proj ect

eompletion tirne. 15

E

Answerthe following:

(i) Find the probability of project completion in 32 weeks'

(ii) Find

(iii) Find

(b) Solve the rneth,rd. I

KL-Gon, { 680-{ 5"

Pessimistic

time (b) in

weeks

I\.4ost likely
" time (m) in

weeks

Activity

12

25

10

2A

11

9

7

5

4

9

i5

7,5

9

A

G

H
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Activity

Optimistic

time (a) in

weeks

2

i0

I
10

7

9

3
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(b) A small project consists ofthe following activities

Activity Normal

Tirne

Normal

Cost

Crash

Time

Crash

Cost

t-2

1-3

2-5

3-4

3-6

4*5

6-7

3

4

4

6

I
J

5

J

90

250

150

100

1400

na
200

204

2

Z

J

4

I
2

J

1

10

370

300

140

400

fia
400

280

Overhead cost is Rs. 70 per daY.

Find (a) Normal project completion time and normal eost'

(b) Optimal project cost and optimal projecrl compietion time'

(c) Minimum project completion time and its corresponding cost.

For the following game, find optimal strategies ofA and B and valve of
garne using principle of dominance. 7

Player B

81 82 83

I

(q)

PlayerA

A company wants to appoint 4 salesman in 4 districts. sale projection

inRs for each salesman is given in each district. How shouldbe company

appoint the salesmen to achieve maximum total sales.

Salesman Districts

A B C D

1

2

3

4

420

360

420

126

168

336

240

168

24A

1t20

JJO

224

70

214

84

56

AI
M
A3

A4

7

-4

3

10

6

-3

0

15

8

9

4
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(b)

Usingthe numbers generate the demand

for next I weeks" Also find the

3L,26" 88, 73, 14,6,91,65
OR

demandperweek.

(p) For the following transpostation find IFS using

(i)NwcR(ii)LCM&

(q)
problem.

,|

1

8

i,t .'

i
E

(ii) Simulation
(iii)Total float & free float
(iv) Optimistic & pessimistic time

!t

35 4025 3CI10 20Demand

perweek
6 4-] I6 t4 9?.Frequency

D4 CapacityD? T)Dr

7,09 61U t2P I

603 7P

6 6
3

6060Demand

KL-Gon' { 680"15.
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A confectioner sells confectionery items, Fast data of demand per

weekwith frequencY is givenbelow.

sequence

7

9 ll 9,0
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5

(2 l{curs)

N.Il. : (i) Altr questions are compui*rory

1. (a)

(b)

(p)

2. (a1

(b)

What is database System? Explain its fe4tures"/
Write a note on Functional dependency'

OR

Explain the three level architecture cf database system with

Explain E-Rmodei r.vith the help of a diagram'

Write a note onmultimerlia database/
oR.

3. (a) Explain the concePt of
(b) Write a note <ln DDL'

./,-
ih'c help t.,1 t dlagraiti ts

10

15

t(}

5

t5

15

i

(p) Expl ain the ibilowing data rnodels in detaii- r.ietr.vork, hierarchical and I{eiaticnal

mociel I

data rnining. Explain the techniques of datamining'

OR

(p) Expiain the stages of nor,malization'with the help of an example.
v?

4. Write short notes on (qnY three)

(a) MySQL ' 'l 
-

(b) Datawarehousqr 
.

(c) Database securitt/
(d) FHP.

' KL-Gon. 2038-{ 5.
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v
1{.8. : l.Answer all questions.

l. i*) Explain diff*r*nr tvfiss of list in ht:*i" Sho't \;;ii: f):an"]E.ifl

OR

(b) Expiain structure of html.
(c) Explain <image> with examPle

2. ta) Expiain the process of development of webcyele with diagrarn'

OR
(b) Explain features of web browser

(c) Explain guideiines to be followed seleoting domain name.

3. (a) Design a student registration form.
OR

(b) Explain physical and lcgical styie of text

(e) Explain FTP coramands.

15

I
7

15

I
1

ffi

I
7

154. Short notes on following (any two)
(a) SeeuritY threats

(b) ExtEmal CSS with eg.

(c) AAA
(d) <frarne set) attributes with eg"

1,.
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N.B" : 1. Al1 questions are compulsory.

2. Number to the right devote marks. 
-

l. (a) Discuss the contribution of the service sector in Indian Econorny.

W{ Oiscuss the extended Ps in service marketing.
{'

OR

Wl What are the basic characteristics of, service compared with goods. Write
1 \ the implication of these characteristics on e-commerce business.

) Explain servic.e marketing triangle

ift

1*

-J

{n

10

3

(q

What do you mcan by servic€ gap '? Discuss the different provider gap 10

responsible for the same.

(b) Discuss the factors influencing customer expectations in service.

CIR

(p) Explain the dirnensions of service quality used by custorners to evaluate
service.

(q) Wtrat is the importance of, reSejarch in service

How &'o you rnarket edue atianal service with the help of 7Fp.

What is CRM ? Discuss the c*mmcn reason for CRM failure w*ithin the

organisation.

t

3tW
,)r,

OR
(p) Diseuss the step by step process involved in CRM implementation
(q) What are the importance of data mining.

4" Write short note on any three :

, (i) Serviee Eneounter
'a(ii) AffiliateMarketing

{iii) Portfolio Management and service marketing

{ryj International marketing of service .

(
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{2 X$news) I Te*tar$ &Smrks ; &[}

What is Nefwork Security? tiffbrent tfu"eafls to n*tivq'ilii: )1'E-,:;,;'r."1 #. .ri'::: i.ri.,,*"

to protect a reetwork f,rom vanieus mttaeks

sft.
{a) Explain the Drooe$s of'Eneryption and I}eerypt.i*rr with trrer helg* oi

Diagram
(b) In spite of flmdia h*img5 ora'e of t]re fustesi grerwing *ountries arcund

the wcrlet, stili th* utiiization u*f credit eard is verv Xess in India.
Agree or Disagree? trxplCI-in

2- Define Card bra:rd, Card Issuer, Aequirer, Iv1er*harif di" Carci H*ld*r. I{*-.,,,
are they related to eaeh other iru m prnoeess? Diagrani F refurrecl

(a) Hxplairu Unautho"rir-O.##l;-icn. Wl'iae is Fh,vsi*al antj {-,,*gicai
Intzusi*n

(b) F{NA factor

,{ r,
\{'. - ('e"Y}.,'s-

)t/??
€ft'r t,l

'E #:I

s

s

'a

rl ,

Il{

3. *efine loiew Generaticn Faymtnl E,r,:;trili" Ex;:taln ::iitL",: .j t-ir;:rs i.if ilrryy';rfl,,r.:!,i

rione in EZC pci:tiiis (Excluding C{ji}l
ti.I-;

(a) $'r'rite short notc *n S'w.trit'f'. Als* expier;tr .,a,,fu:;i rs il'i,,,d1,:'i L.,..!r,-f,,:'i
(h) Ex::lain the pr**e;s cif sr+ili,a dat-a -.ciftixiriurli*a,rii:rl i:,.:iii,ii-::1 1#31

Server anel lM*h Erc-i.r,s*r

4. Vv'rite Short j{ctes *n (aur3, tfur.cul

i;ir i1acP"lng

itu) ssl,
ie) CI:IAFS

id) swsr
{*) Digiral Signature

;4
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2" How has benefited f,arrners ali tcq

What are Vaflr:)tis e-payrr:ent iacliitiq:". it'\

List out vari

4- What do you mean by hybrid rnodei? List cut its m*r:its &: derrrer:ls

a
fnodo fs o/

-f, Rtfn

N" I3. : (l) All questions are comrpulsory.

{2) Internal choices have beell given.
(3) Figures to the night indicate ?ull mark:s.

ji. 
":i

tr.r

2, \trIhat factors hal'e contributed for grorving demar:ci +f, r:*cornr:lerce rncdrl',, i:;

;l r'l:
L ":;,

.l: ",)

'!(l--Gon.-263{ -'!5


